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¢ 1300mm X 211y, FTE%F19. 2m, K B F16. Tm, &5
RINE290kg/m3, tAY M RE L (—i%IRES 1)
s T = 1 1,796, 000 | A7)k 5 A
¢ 1300mm X 211y, FTE%F18. 2m, S B 15. 9m, ;& &
WRINE200kg/m3, tAY M RELE (—%IRES 1)
s T = 1 1,227,600 |A7)-##: 3 A
¢ 1300mm X 21y, FTE%F16. Tm, X B 15. 9m, ;& &
TRINE290kg/m3, tA/ M RE LT (—R%IRES 1)
RS 2V 1 68, 982, 300
Il R Y 1 16, 295, 800
s fEeE = 1 9,321, 800
TE = 1 8,574, 000 | T EE BRI Sy MRAH ST iy 16 2 1 =
B gy = 1 16,800 | A{li/nhis HEER 1 =
B -F7)° B 1 2V
Bl RIEUER (FE L) Y 1 731, 000
Il (it L) Y 1 6, 974, 000
il T Y 1 85, 278, 100
Bl H e 2V 1 26, 337, 000
T =5 Y 1 111, 615, 100
— R B 2V 1 18, 854, 900
T HAm#E Y 1 130, 470, 000
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